‘Math 121 - Quiz 2 Name: SO LT (OMN S

(1) [5] Let H(x) = csc®(v/x). Find functions f, g and h so that H=fogoh.

Wex) = Jo
§(x)= Cse(x)
| 3
Fex) = x

f
(2) [5] Let f(x) =3+ x and g(x) = 9 — x*. Determine and simplify <—> (x) and state the domain.

(g')(xh i”‘,_: 3t x _ [
: ' - ¥

(3-%)@+x) 3-x
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DM ”6 Fix) s (-c@,‘w)

D oworan ué PRSI (= o0 ).

Gy =0 T K= 3, —3.

5 Vomdinn % (%) (X) '2‘F°°)'3> U(f313) U(B'mﬂ .
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Math 121 - Quiz 2 Name:  SOLUTIONS.

(3) [5] A stone is dropped into a lake, creating a circular ripple which travels outward at a speed of

40 cm/s. Determine A(t), the area of the circle as a function of time t. (Hint: first determine r(t), the
radius of the circle as a function of time.)

Vit)= Mo+
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